AP ABCD oA thZH4d BD ol

3

h

1.

BE = DF 7} 5|=5 & H E,F € &< ),
Ig}

A ol

3

)
1

ODAECF

‘_ug.mo
el

o



oSS WPAMY ABCD ] 2 W] FHE A ow
27V E, F, G, H 2t 511 AF 9} CE © 73 ‘W
SP,AGYCHY wE2 Qe g, & E

% 0APCQ 7} BPAHYo] 5= 2707 ﬁ‘;
717 guke Ao9 B F C

@© AE=EB,AD//CB @ AF — CH, Afl//FC

® AB//DC,AQ =PC @ AP//QC, AQ//PC

® AP=QC,AQ=PC



S 13 9] gABCD &= H3PAH o]t}
DABCD 9] ZF HO] & ZF7F L, M, N, P
2t 5tar AM 7} CL 9] 2382 E, AN 7} CP
Ol W& F 2l & wf, DAECF += o® A}
7y Q17| watojet.

YEE
=%




=
=
, OAECF

=
=
T

[l
=

AP ABCD ¢
E, Fat

ek
=19
=
A

7} ol

a9
BD °f W

©
=

ot

4.

o

o7} Zt.

o



HPAIHS ABCD ¢ AB, CD Y]l AE =
CF7}H &2 % HE, F & &2 ) oBEDF
7} YA o] Bl= 2 A0 2 7P dute

AL

® AB//DC, ED//DF

@ (EBF = (EDF, /BED = /DFB
® AD=BC, AB=CD

@ AB=CD, AE=CF

® BE//DF, BE = DF

A



o2 ShEF 2 g
2 AL AR A gojet,
(o, BPAPHE ABCD o4 T thzt
_"

oL s =
+ W7t BD 9J¢l BE = DF & 5ok golth.

2o
1o,
El
fa)

lo

ohd o217t S8= ol B2 23T 23l A

[7}7]0ABCD = B3AHH S, BE = DF
[ Z|0AECF + B3AH
[58]0ABCD + B3 Aol n=
OA=[_|(a)

7}4l4] BE = DF ©| 2.2 OE=__] ()
kA & tiZbddo] M2 o2 AL o8
DAECF += H A ot}

S A=R=]

=
=¥
YEE

=%



the 1T o] BaPAPHE ABCD 9 7t §19] S-S ot AF <F
CE, AG ¢ CH o w3& 247 P, Q 2t & u, 0ABCD £ A ¢J 3t
HYPAHF-S 0AECG , oAFCH , DAPCQ ©|t}. Z12+e] F3yApd
Fol B 270 AR de 227

@ ® © © 9
1
oF
It

© 006,06 ©® @60 ® @060
@ 9,0, © ® ©, 0,0



AB = 100cm ¢! AP ABCD o4 A

PEABYE 2% 4em O S22 A A &

ot BEOR, Q= W& 7om 9 HEE

CD 9= C 9A ZH}S]—O% DZog $zo|7

oltt. P 7t 93t 2] 9 2 of Q 7 &S

o, Ago% AQ//PC 7t He A2 P 7t &
-stofzt,

e &
=%

B

o

J

R

A]

™
=

=

-lOll

@)
O
-

ro



JYAAE ABCD ©] T ¥ BC, DC ¢] d7%41 $1°l BC = CE ,

o\:\

DC=CF 7l §&% % A E, F £ &2 1, cABCDE Al Qg+ Azt
o] YPrpAg o] El= 212 B4 B 2 1717
A D
@)
B L} C LLI E
F
B7]
5 2ol g o] Z+zt 1 s)olct
9] i o] do|7} Zvzr Atk
tfz+o] 27|17}y 2+ 2 Eok

@ ® ® © O
n
ok
lo

@ 1 @ 2 3 37 @ 4 ® 571



